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g]kfn ;/sf/jf^ cf=a=2075.76 sf] jh]^ jStJodf k|To]s /fi^<;]js 

sd{rf/Lx? -lghfdtL ;]jf, ;fd'bflos ljBfnosf lzIfs, g]kfnL ;]gf, g]kfn 

k|x/L, z;:q k|x/L tyf /fli^<o cg';Gwfg laefu_ sf] 2075 >fj)f 1 ut]b]lv 

nfu' x'g]u/L dfl;s tnjjf^ ?=400.- tyf g]kfn ;/sf/jf^ ?=400.- u/L 

hDdf dfl;s ?=800.- s§f u/L pQm /sd gful/s nufgL sf]ifdf k&fpb}+ 

cfO{/x]sf]df 2075 cfiff( d;fGt;Dddf ?=9,600.- vftfdf hDdf gePsf 

/fi^<;]jsx?n] gk'u /sd AolQmut ?kdf gful/s nufgL sf]ifsf] sfof{nodf 

;Dks{ u/L hDdf ul/lbg' x'gsf] nflu of] ;"rgf hf/L ul/Psf] % . ;fy} 

?=9,600.- eGbf sd /sd hDdf ePsf /fi^<;]jsx?n] sf]ifsf] vftfdf gk'u 

/sd hDdf gu?Gh]n jLdfdf ;xefuL gx'g] Aoxf]/f ;d]t o;} ;"rgf$f/f 

hfgsf/L u/fO{G% . ;fy} 50 aif{ eGbf al( pd]/sf] /fi^<;]jsx?n] pd]/sf] 

cfwf/df al( jLdf lk|ldod j'emfpg' kg]{ ePsf] x'+bf lghx?n] ;d]t pQm al( 

/sd sf]ifdf ;Dks{ /fvL j'emfpg' x'g ;'lrt ul/G% . 
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